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QUESTION 1

What is required in order to prevent other hosts from mounting the source volume in the Peer Motion import stage
migration workflow even after the migration? 

A. Set an SCSI Buffer Queue Full on each source volume. 

B. Set a longer SCSI time-out value on each source volume. 

C. Set the SCSI time-out value to zero on each source volume. 

D. Place an SCSI-3 reservation on each source volume. 

Correct Answer: C 

 

 

QUESTION 2

Which remote copy mode is supported with RMC-V? (Select three.) 

A. Sync Catalyst Copy 

B. Async Journaling mode 

C. Sync mode 

D. Async Streaming mode 

E. Async Periodic mode 

Correct Answer: ACD 

 

QUESTION 3

What happens to the peer volume in a Peer Persistence configuration when a failover happens? 

A. The peer volume in the destination array changes the WWN by adding "10" to the last 2 numbers of the WWN in the
primary array. 

B. The peer volume in the destination array adds the destination array serial number in HEX to the WWN from the
primary array. 

C. The peer volume WWN in the destination array is randomly generated during failover. 

D. The state of the paths changes from passive/non-optimized to active/optimized. 

Correct Answer: B 
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QUESTION 4

What is the cache operation state for the volumes participating in a unidirectional Peer Motion workflow at the Admit
stage? 

A. Persistent Cache enforced on the source array 

B. Mirror Cache on the destination array 

C. cacheless on the source array 

D. cacheless on the destination array 

Correct Answer: B 

 

QUESTION 5

What does RMC do to retrieve a data set that is no longer available within the HPE 3PAR snapshot? (Select three.) 

A. It creates a clone R/O snapshot virtual volume using Catalyst Copy from StoreOnce Catalyst Store. 

B. RMC performs a Catalyst Copy over Ethernet via the 3PAR File Persona port from StoreOnce. 

C. RMC performs a block comparison between Express Protect Backups. 

D. RMC performs a Peer Copy from StoreOnce to a child snapshot virtual volume in 3PAR. 

E. The child snapshot is then attached/mounted to a host to recover the files. 

F. It creates a child R/W snapshot on the 3PAR. 

Correct Answer: BDE 
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